KANGOUROU MATHEMATICS COMPETITION 2023 LEVEL 3-4
AIATONIZMOZ KANGOUROU MAGHMATIKA 2023 EMIMEAO 3-4

1. Annie lits 5 identical candles all at the same time.

They stopped burning at different times and now look as shown in the picture.

Which candle stopped burningfirst?

H Avva avafel 5 mavopolotuna Kepld 6Aa tnv (Sla otyun. .
2Bnvouv SLadopETIKEG WPEG KAl Twpa daivovtal OTwG oTnV EKOVA.

Mowo kepl €éoBnoe mpwto; A B CD E

(A) A (B) B (nc (4) D (E) E

2. The 2 kangaroo coins with the question mark ? on have the same value. What is this value?
Ta 2 kavyoupd képpata e to cUPPBoAo ? £xouv Ty idla afia. Mola eivatl n afia Toug;

(A) 1 (B) 2 (N s (A) 10 (E) 20

3. A grey circle with 2 large holes in it is put on top of a clock-face, as shown.
‘Evag ykpilog KUKAOG pE 2 HEYAAEG TPUTIEC UMOLVEL TTAVW OO TO POAOL, OTIWE PALVETAL TILO KATW.
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The grey circle is turned around its center. Which 2 numbers is it possible to see at the same time?
O ykpilog kUKAog yupilel yOpo armod To kévtpo tou. Molol 2 aplBpol pmopouv va ¢paivovtal tnv idla
oTLypn;

(A)4and 9/4 kaL9 (B)5and 9/5«kat9 (r)5and 10 / 5 kaw 10
(A)6and 9/6«kaL9 (E)7and 12 /7 kar 12
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4. Alice has these puzzle pieces:
H AAiKN €XEL TO TILO KATW KOUUATLO TTaZA:

i

1 2 3 4

Which 2 pieces can she put together to form this square?
Mota 2 Koppatia propel va BaAel poll £TolL wote va GTLAEEL TO TOPOKATW TETPAYWVO;

(A)1and2/1 ka2 (B)land3/1ko3 (N1and4/1kai4d
(A)2and3/2kaL3 (E)2and 4 /2 koL 4

5. Alight engineer in the theatre turns the lights on and off. She uses the plan shown.
How long in total are exactly 2 of the lights on at the same time?
‘Evag nAektpoAdyog avaBoaoBrivel ta dwto oto B£atpo. XpnoLUomoLel To oxESLo Onwg daiveTal.
Ma moéon wpa oto cUVOAO €ival avolxtd 2 ¢wta thv idla wpa;

NPAsZINO/ Green
NOPTOKAAI / Orange
MNAE / Blue

0 1 2 3 4 5 6 7 8 9 g 11 A2

Aenttd/ minutes
(A) 2minutes /2 Asmta (B) 6 minutes / 6 Aemta (F) 8 minutes /8 Aemtd
(A) 9 minutes / 9 Aenta (E) 10 minutes / 10 Aemtd

6. Kristoffer folds the transparent paper along the dashed line.
O Xplotodopog Suthwvel To SLadavo XapTi KATA UAKOG TNG SLAKEKOUHUEVNG YPOUMAG.

What can he then see?
Mola ekova amno TI¢ mapakatw Ba Sel;
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7. Anna has 4 discs of different sizes. She wants to build a tower of 3 discs so that every disc is
smaller than the disc below it. How many different towers can Anna make? e —

|;,, B\

}\____,3 _

H Avva €xeL 4 diokoug SladopeTikwy LeyeBwv.
O¢AeL va ktioel éva mupyo pe 3 Slokoug £toL wote KABe Slokog va gilval pLKPOTEPOG amod TovV
6loko mou Bpioketal and katw. Nocoug dtadopeTikol MUPYoUC Umopel va GTLaeL n Avva;

(A)1 (B) 2 (N4 (4) 5 (E)6

8. Danny glued the 2 pieces of paper /\ R on top of the black circle on the right.

What can he not obtain?

O Nrtivog KOANOoE AUTA TA 2 KOUUATLO XOPTL /\ ’\ TIAVW Ao ToV Haupo KUKAO ot S€Ld.
TL 8ev umopet va dnpLoupynosy;

96 ST &

(A) (B) (N (4) (E)

9. The shape on the right is covered with the 5 pieces below. Which piece will cover the dot?
To oxfiua ota 8efLd elvat KOAUMUEVO HE TA 5 TapakdTw oxrpata. Moo oxiua 6a kaAuPeL tnv

teleia;
N\

(A) (B) (1) (4) (E)
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10. There are six weights of 1, 2, 3, 4, 5 and 6 kg. Rossitza puts five of them on the scales and puts

11.

one weight aside. The scales balance. Which weight did she put aside ?
Yriapyouv 6 dladopetikd Bapidia twv 1, 2, 3, 4, 5 kat 6 KAwv. H Pola Balel mévte amd autd mavw
otn {uyapld kal éva Bapidt oto mAdL. H Luyapla toopporel. Moto Bapidt €Bale oto mAQL;

foia/sAlicls]

(A) 1kg/1ko (B) 2 kg / 2 kA& ()3 kg /3 kA&
(A) 4 kg / 4 kNG (E) She can’t be sure / 6gv elval olyoupn

of the lengths 10, 20, 30, 40, 50 and 60 cm using his ruler only once. Which is Andrey’s ruler?

Andrey has a 60 cm ruler. Unfortunately, some of the markings have faded away. He is able to measure any

O Avtpéag €xel pia piya 60 ekatootwyv. AuCTUXWC, KAToLa onpeia otn piya Tou €xouv ofnotel. Mmnopei va
LETproeL omolodnmote pikog twv 10, 20, 30, 40, 50 kot 60 EKOTOCTWY XPNOLUOTIOLWVTAC TN pilyo Tou Hovo

pia popad. Mowa gival n piya tou Avtpea;

T T T T T T LI T
| 0 30 | | 20 a0 | | 30 50| | 1020 | |1

T
40 |
> >
60 cm/ekatootd 60 cm/eKkatootd 60 cm/ekatootd 60 cm/ekatootd 60 cm/ekatootd

(A) (B) (N (8) (E)

12. There are 7 houses north of Road A, 8 houses east of Road B and 5 houses south of Road A.

How many houses are west of Road B?

Yridpyouv 7 omitia fopeLa Tou Apopou A, 8 omitia avatoAlkd tou Apopou B kal 5 omitia votia tou Apouou

A. Moéoa omitia Bpiokovtol Sutikd Tou Apopou B;

A)
B)
N
)
)

>
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13.

14.

15.

16.

There are 8 cars waiting in a queue for the ferry.

Every car contains either 2 or 3 people. There are 19 people in total waiting for the ferry.

How many cars contain exactly 2 people?

Yrdpxouv 8 autokivnTa o MEPLIEVOUV OTN OELPA yLla va eTBLBactouy oto KapafL.

Ye KaBe autokivnto Bpiokovtal 2 ] 3 dtopa. Yrapyxouv 19 dtopa 6To cUVOAO TIOU TIEPLUEVOUY
va ermuPBiBaoctouv. MNooa avtokivhta £xouv akplPwe 2 dtopa HEoa;

(A) 2 (B)3 (4 (8) 5 (E) 6

The Metro - train line has 6 stations A, B, C, D, E and F.

The train stops at every station. When it reaches one

of the two end stations, it changes its direction. West East
The train driver started driving at station B and his L J
first stop was station C.

Which station will be his 96 stop?

A B C D E F

— =

H ypoppn Tou Metpo — Tpévou €xeL 6 oTabpoug, A, &ZH ANATOAH
B

B, C, D, E kaL F. To Tpévo otapatd o kKABe otabuo. A
Otav $ptaoel og €va amo Toug SU0 TEPUATLKOUG

otaBuoug, aAAalel katevBuvaon. O 0dnyog Tou TpEvou Egkivnoe va odnyel amnd tov otabuod B kat
N MPWTN TOU oTAch ATav o otabuog C.

Molog otaBuog Ba eival o 96" otaon;

| | | J
C D E F

(A) A () B (Nnc (8) D (E)E

Harry wants to paint the circles in the picture. He wants to paint any 2 circles connected with a
line different colours. What is the smallest number of colours he needs?

O Xapng B£AeL va xpwpatioel Toug KUKAOUG TTou dalivovTol oTnV ELKOVAL.

O&AeL va XpWHOTIOEL e SLadOPETIKA YpwHATA OTtolouadnmote 2 KUKAOUC Ttou ivait

EVWUEVOL UE ypappn. Molog elval o KPOTEPOC aplOUOG XPWHATWY TToU XPEeLaleTal;

(A)2 (B)3 (N4 (8)5 (E) 6

Stephan walks through the two-storey maze from the entrance to the exit, passing 3 wall
stickers. In what order will he see them?

, , , e ',a. B2, ‘ | y
O Stédpavog mepnatd oTo SLwpodo oul —; : %/l—/ o .I. ‘m a}
vt / /
KTplo apyilovtag amno tnv eicodo kat Sy s Pam & o ; ., Va1~ g
, , , [ W ~ M/ . Ph B
kataAnyovtag otnv €€060, meEpVWVTAG T e ',_IN i
amnod 3 autokoAAnta nou Ppiokovtal otov —— . '
Ttoixo. Me mota oelpd Ba SeL Tat B first floor
QUTOKOAANTQ;
Py~ )7L
cl—)‘ ) . f , < 4 5] - .
.‘ '."\ '. 2 .‘ b .
o
looyto (-7‘\' I opopeg
A o o £y 1 ol
(A) e )RR N eE (B)58 <& (1) =N
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17

18.

19.

20.

. 6 beavers and 2 kangaroos are standing in a line.
Amongst any 3 consecutively numbered animals, exactly 1 @@@@@@@
is a kangaroo. Which numbered animal is a kangaroo?
6 KAOTOPEG KAl 2 KAyKOUPO OTEKOVTAL OTN OELPA.
Avdapueoa oe 3 Stadoyika aplOunuéva {wa, akplPwg to 1 ival kaykoupo.
Moto aplBunuévo {wo eival To Kaykoupo;

(A)1 (B) 2 (N3 ()4 (E)5

Rebecca folds a square piece of paper twice. Then she cuts off one corner. Next, she unfolds the
paper. What does the paper look like once unfolded?

H PeBékka Suthwvel SU0 PpopEg Eva TeTpdywvo Xapti. Metd kOBeL pia ywvia. ITn CUVEXELQ,
Eeduthwvel to xopti. Nwg polalet To xapti otav EeSutAwOe(;

> i
(A) (8) _ (r)

Eliana, Harry and Ron always walk into the common room one at a time. Eliana is never first,
Harry is never second and Ron is never third. In how many different orders could they walk in?
H HAwva, o Xapng kat o Povng pmaivouv otnv aiBouoa mavta €vag-£vag.

H HAwGva dev eivat mote mpwtn, o Xapng Sev eival oté deUTEPOG Kal 0 Povng dev eival mote
Tpitog. Me méoouc SladopeTikoug TPOMOUG Ba umopoucayv va Umouv otnv aibouoa;

(A)1 (B)2 (N3 ()4 (E) 6

There are five clocks on the wall. It is known that one clock is an hour fast, one clock is an hour
slow, one clock shoes the correct time and two clocks have stopped. Which clock shows the
correct time?

Yndpyxouv 5 poAdyla otov Toixo. Eival yvwoto otL éva poAdt eivatl pia wpa Unmpootd, £vo poAotL
glval pia wpa miow, éva poAot deixvel Tn cwoth wpa Kot SUo poAdyLa £Xo0uUV CTAATHOEL.

Moto poAoL Seiyvel TN cwotn wpa;

(A) A (B) B (nc (8) D (E)E
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21. Adam and Brenda have 9 marbles each. Together, they have
’ &

8 red and 10 blue marbles. Brenda has twice as many blue "'Lf @ @

marbles as red marbles. How many blue marbles does @ @

Adam have? B

e e e ©
' -y : o ©

O Avtap kot n Mmpévta €xouv 9 punaAeg o kabévag. Madi, @ & @

£XOUV 8 KOKKLVEG Kal 10 prmAe pumaleg. H Mmpévta €xel

SUTAQOLEG UITAE UIMAAEC QTTO TIG KOKKLVEG. MO0eg UmAe @ k‘_&— @

22.

UTTAAEC £XEL O AVTay;

(A)3 (B) 4 (N5 (8)6 (E)O

Elsa has two machines. When she puts a square sheet of paper in machine R, it turns the paper
90° clockwise, as shown in the picture.

H'EAoa £xeL SUo pnxaveg. Otav Balel Eva tetpaywvo Xapti otn pnxavn R, yupilel to xapti kata
90° 6e€looTpoda, OMwe dalvetal oTnV €KOVA.

When she puts the paper in machine S, it stamps the paper with a *

Otav BaleL to xapti S, oppayilel To XopTl pE Eva *

- -

P

-

In which order are the machines used to produce the result shown?
Me moLa oelpd £XOUV XPNOLUOTOLNOEL TA NXOVAMOTA YL TNV TTApOywyr) TOU
OTIOTEAECLLOTOC;

=2 =2 = 2 ]

(A) SRR (B)RSR  (I)RSS (0) RRS (E) SRS

23. Teacher Olena wants to write the numbers 1 to 7 in the circles. Inside each 7038
circle she writes one number. She wants the sum of the numbers in two 9",!-’-" "‘:;’9
circles that are next to each other to be as shown. . '
What number must she write inside the green/shaded circle? B\ 'l

H SaokdaAa OAéva B€AeL va ypael Toug aplBuoug 1 €wg 7 otoug KUKAoUG. Méoa og kaBe KUKAO
vpadeL évav aplBuo. OéAeL To abpolopa Twv aplBpwy oe Vo KUKAoUC ou Bpiokovtal o Evag
SimAa otov GAAov va sival onwe dpaivetal. Molov aplBud mpémnel va ypael péoa otov
T(PACLVO/OKLOOUEVO KUKAO;

(A)1 (B) 2 (N3 (8)4 (E)5
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24. Maria has shaded exactly 5 cells in a 4 X 4 grid. She challenges 5 of her friends to guess which
cells she has shaded. The grids they have drawn are shown below. Maria looks at them and says:
“One of you is right and each of the rest of you has four cells correct.”

Which is the correct answer?

H Mapla €xel xpwpotiosl akplBwg 5 keAld o éva mAgypa 4 X 4. MpokaAel 5 ¢piloug Tng va
povtéPouv mola KeALA £XEL XpWHUOTIOEL Ta MAEYUATO TTOU £€X0UV XpwHATIoEL paivovtal
napakdtw. H Mapia toug kottalet kot Aéel: «Evag amd e0A¢ eival owoTog Kol o Kabévag ano
TOUG UTIOAOLITOUG £XEL TECOEPA CWOTA XPWHOTIOUEVO KEALA. »

Mola eival n cwotn anmavenon;

N . I I B

[ | ‘
(A) F (8) ® () N () ; (E) H



